	TABULATION OF BIDS												
PROJECT:	FREEWAY MANAGEMENT SYSTEM, PHASE 3 UNIT 1												
PROJECT NO.:	NH-0300(152) NET LENGTH OF PROJECT: 3.8 MILES											OTATE	
ISLAND:	OAHU DISTRICTS: HONOLULU AND EWA		PAUL'S ELECTRICAL CONTRACTING, LLC			JACK ENDO ELECTRIC, INC		WASA ELECTRICAL SERVICES, INC.		KIEWIT INFRASTRUCTURE WEST CO.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
TYPE CODE:	24												
DATE ADVERTI	SED: Internet Posting - 9/8/21												
BIDS OPENED:	October 13, 2021												
COMPLETION T	IME: 617 WORKING DAYS BASE BID												
		APPROX.		UNIT		UNIT		UNIT		UNIT		UNIT	
ITEM NO.	BASIC BID ITEMS	QUANTITY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
201.0100	CLEARING AND GRUBBING	72000	S.F.	\$0.50	\$36,000.00	\$0.20	\$14,400.00	\$3.00	\$216,000.00	\$0.50	\$36,000.00	\$1.25	\$90,000.00
209.0100	INSTALLATION, MAINTENANCE, MONITORING, AND REMOVAL OF BMP	38	MONTHS	\$500.00	\$19,000.00	\$500.00	\$19,000.00	\$4,263.00	\$161,994.00	\$2,250.00	\$85,500.00	\$8,600.00	\$326,800.00
209.0200	ADDITIONAL WATER POLLUTION, DUST, AND EROSION CONTROL	F.A.	F.A.	F.A.	\$46,000.00	F.A.	\$46,000.00	F.A.	\$46,000.00	F.A.	\$46,000.00	F.A.	\$46,000.00
212.0100	ARCHAEOLOGICAL MONITORING	F.A.	F.A.	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00
511.0100	H2 SOUTH CCTV DRILLED SHAFT AND PILE CAP (1)	13	LIN. FT.	\$3,000.00	\$39,000.00	\$4,000.00	\$52,000.00	\$8,283.00	\$107,679.00	\$3,000.00	\$39,000.00	\$5,000.00	\$65,000.00
511.0200	WAIKELE CCTV DRILLED SHAFT AND PILE CAP (1)	15	LIN. FT.	\$4,000.00	\$60,000.00	\$3,600.00	\$54,000.00	\$4,928.00	\$73,920.00	\$2,300.00	\$34,500.00	\$5,000.00	\$75,000.00
621.0001	MIDDLE STREET TO AHUA STREET, TRENCH EXCAVATION	370	LIN. FT.	\$200.00	\$74,000.00	\$385.00	\$142,450.00	\$364.00	\$134,680.00	\$275.00	\$101,750.00	\$100.00	\$37,000.00
621.0002	MIDDLE STREET TO AHUA STREET, CONCRETE	11	C.Y	\$350.00	\$3,850.00	\$575.00	\$6,325.00	\$403.00	\$4,433.00	\$1,000.00	\$11,000.00	\$250.00	\$2,750.00
621.0003	MIDDLE STREET TO AHUA STREET, 2"C PVC SCHEDULE 40	780	LIN. FT.	\$2.00	\$1,560.00	\$8.00	\$6,240.00	\$10.00	\$7,800.00	\$25.00	\$19,500.00	\$12.00	\$9,360.00
621.0004	MIDDLE STREET TO AHUA STREET, 2"C PVC COATED GRC	17000	LIN. FT.	\$15.00	\$255,000.00	\$110.00	\$1,870,000.00	\$83.00	\$1,411,000.00	\$117.00	\$1,989,000.00	\$36.00	\$612,000.00
621.0005	MIDDLE STREET TO AHUA STREET, SPLICE CABINET	2	EACH	\$9,000.00	\$18,000.00	\$15,500.00	\$31,000.00	\$25,443.00	\$50,886.00	\$20,000.00	\$40,000.00	\$25,000.00	\$50,000.00
621.0006	MIDDLE STREET TO AHUA STREET, ELECTRICAL CABLE	20	LIN. FT.	\$15.00	\$300.00	\$13.00	\$260.00	\$19.00	\$380.00	\$550.00	\$11,000.00	\$40.00	\$800.00
621.0007	MIDDLE STREET TO AHUA STREET, 24"X36" TRAFFIC SIGNAL PULLBOX	2	EACH	\$4,000.00	\$8,000.00	\$2,300.00	\$4,600.00	\$8,197.00	\$16,394.00	\$2,250.00	\$4,500.00	\$3,000.00	\$6,000.00
621.0008	MIDDLE STREET TO AHUA STREET, 32"X32"X8" STAINLESS STEEL PULLBOX	15	EACH	\$5,000.00	\$75,000.00	\$7,200.00	\$108,000.00	\$3,186.00	\$47,790.00	\$6,500.00	\$97,500.00	\$4,000.00	\$60,000.00
621.0009	MIDDLE STREET TO AHUA STREET, 32"X36"X8" STAINLESS STEEL PULLBOX	13	EACH	\$6,000.00	\$78,000.00	\$8,500.00	\$110,500.00	\$3,382.00	\$43,966.00	\$7,000.00	\$91,000.00	\$4,000.00	\$52,000.00
				+0,000.00	÷. 0,000.00	÷0,000.00	\$1.0,000.00	\$0,002.00	÷.0,000.00	÷.,000.00	<i>\$</i> 0.,000.00	+ .,	+, 0 .000

	TABULATION OF BIDS												
PROJECT:	FREEWAY MANAGEMENT SYSTEM, PHASE 3 UNIT 1												
PROJECT NO.:	NH-0300(152) NET LENGTH OF PROJECT: 3.8 MILES											STATE	OF HAWAII
ISLAND:	OAHU DISTRICTS: HONOLULU AND EWA			-	ECTRICAL	JACK ELECT	KENDO WASA ELE		ECTRICAL ES, INC.			DEPARTMENT C	OF TRANSPORTATION
TYPE CODE:	24			CONTRAC	TING, LLC	ELECT	RIC, INC	SERVIC	ES, INC.	WEST CO.		понии	
DATE ADVERTIS	SED: Internet Posting - 9/8/21												
BIDS OPENED:	October 13, 2021												
COMPLETION T	IME: 617 WORKING DAYS BASE BID												
ITEM NO.	BASIC BID ITEMS	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
621.0010	MIDDLE STREET TO AHUA STREET, HECO METER PEDESTAL	1	EACH	\$25,000.00	\$25,000.00	\$13,300.00	\$13,300.00	\$17,322.00	\$17,322.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
621.0011	MIDDLE STREET TO AHUA STREET, HECO CHARGES	F.A.	F.A.	F.A.	\$2,000.00	F.A.	\$2,000.00	F.A.	\$2,000.00	F.A.	\$2,000.00	F.A.	\$2,000.00
621.0012	WAIAWA ROAD STUB, TRENCH EXCAVATION	350	LIN. FT.	200	\$70,000.00	\$200.00	\$70,000.00	\$271.00	\$94,850.00	\$350.00	\$122,500.00	\$100.00	\$35,000.00
621.0013	WAIAWA ROAD STUB, CONCRETE	9	C.Y	\$350.00	\$3,150.00	\$575.00	\$5,175.00	\$403.00	\$3,627.00	\$1,000.00	\$9,000.00	\$250.00	\$2,250.00
621.0014	WAIAWA ROAD STUB, 2"C PVC SCHEDULE 40	1600	LIN. FT.	\$2.00	\$3,200.00	\$8.00	\$12,800.00	\$10.00	\$16,000.00	\$17.00	\$27,200.00	\$12.00	\$19,200.00
621.0015	WAIAWA ROAD STUB, SPLICE CABINET	1	EACH	\$9,000.00	\$9,000.00	\$15,500.00	\$15,500.00	\$25,472.00	\$25,472.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
621.0016	WAIAWA ROAD STUB, 24"X36" TRAFFIC SIGNAL PULLBOX	2	EACH	\$4,000.00	\$8,000.00	\$2,300.00	\$4,600.00	\$1,860.00	\$3,720.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00
621.0017	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, TRENCH EXCAVATION	4350	LIN. FT.	\$200.00	\$870,000.00	\$200.00	\$870,000.00	\$281.00	\$1,222,350.00	\$200.00	\$870,000.00	\$100.00	\$435,000.00
621.0018	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, CONCRETE	105	C.Y	\$350.00	\$36,750.00	\$575.00	\$60,375.00	\$403.00	\$42,315.00	\$1,000.00	\$105,000.00	\$250.00	\$26,250.00
621.0019	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, 2"C PVC SCHEDULE 40	11360	LIN. FT.	\$2.00	\$22,720.00	\$8.00	\$90,880.00	\$9.00	\$102,240.00	\$17.00	\$193,120.00	\$12.00	\$136,320.00
621.0020	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, 2"C PVC COATED GRC	3560	LIN. FT.	\$15.00	\$53,400.00	\$120.00	\$427,200.00	\$113.00	\$402,280.00	\$120.00	\$427,200.00	\$36.00	\$128,160.00
621.0021	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, ELECTRICAL CABLE	4520	LIN. FT.	\$30.00	\$135,600.00	\$36.00	\$162,720.00	\$26.00	\$117,520.00	\$25.00	\$113,000.00	\$40.00	\$180,800.00
621.0022	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, 24"X36" TRAFFIC SIGNAL BOX	21	EACH	\$8,000.00	\$168,000.00	\$2,300.00	\$48,300.00	\$2,144.00	\$45,024.00	\$1,500.00	\$31,500.00	\$3,000.00	\$63,000.00
621.0023	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, TYPE "A" TRAFFIC RATED TRAFFIC SIGNAL BOX	2	EACH	\$8,000.00	\$16,000.00	\$1,500.00	\$3,000.00	\$8,197.00	\$16,394.00	\$12,000.00	\$24,000.00	\$8,000.00	\$16,000.00
621.0024	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, SPLICE CABINET	2	EACH	\$9,000.00	\$18,000.00	\$15,500.00	\$31,000.00	\$25,472.00	\$50,944.00	\$50,000.00	\$100,000.00	\$25,000.00	\$50,000.00

	TABULATION OF BIDS												
PROJECT:	FREEWAY MANAGEMENT SYSTEM, PHASE 3 UNIT 1												
PROJECT NO.:	CT NO.: NH-0300(152) NET LENGTH OF PROJECT: 3.8 MILES											STATE	OF HAWAII
ISLAND:	OAHU DISTRICTS: HONOLULU AND EWA			_	LECTRICAL CTING. LLC	JACK ENDO ELECTRIC, INC		WASA ELECTRICAL SERVICES, INC.				DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
TYPE CODE:	24			CONTRA		LLLOI	110, 110	GEIWIG	20, 110.	WEST CO.		Thomw,	
DATE ADVERTI	SED: Internet Posting - 9/8/21												
BIDS OPENED:	October 13, 2021												
COMPLETION 1	TIME: 617 WORKING DAYS BASE BID												
ITEM NO.	BASIC BID ITEMS	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
621.0025	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, 32"X32"X8" STAINLESS STEEL JUNCTION BOX	15	EACH	\$5,000.00	\$75,000.00	\$6,600.00	\$99,000.00	\$3,186.00	\$47,790.00	\$10,000.00	\$150,000.00	\$4,000.00	\$60,000.00
621.0026	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, ENCLOSED CIRCUIT BREAKER	1	EACH	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00	\$11,371.00	\$11,371.00	\$5,500.00	\$5,500.00	\$2,000.00	\$2,000.00
621.0027	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, STEPDOWN TRANSFORMER 2KVA PEDESTAL	1	EACH	\$5,000.00	\$5,000.00	\$13,900.00	\$13,900.00	\$13,740.00	\$13,740.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
621.0028	WAIHONA STREET STUB, TRENCH EXCAVATION	430	LIN. FT.	\$450.00	\$193,500.00	\$200.00	\$86,000.00	\$257.00	\$110,510.00	\$350.00	\$150,500.00	\$100.00	\$43,000.00
621.0029	WAIHONA STREET STUB, CONCRETE	15	C.Y	\$350.00	\$5,250.00	\$575.00	\$8,625.00	\$403.00	\$6,045.00	\$1,000.00	\$15,000.00	\$250.00	\$3,750.00
621.0030	WAIHONA STREET STUB, 2"C PVC SCHEDULE 40	1290	LIN. FT.	\$2.00	\$2,580.00	\$8.00	\$10,320.00	\$9.00	\$11,610.00	\$17.00	\$21,930.00	\$12.00	\$15,480.00
621.0031	WAIHONA STREET STUB, SPLICE CABINET	1	EACH	\$9,000.00	\$9,000.00	\$15,500.00	\$15,500.00	\$25,472.00	\$25,472.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
621.0032	WAIHONA STREET STUB, 24"X36" TRAFFIC SIGNAL PULLBOX	2	EACH	\$4,000.00	\$8,000.00	\$2,300.00	\$4,600.00	\$1,860.00	\$3,720.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00
621.0033	WAIKELE CCTV, TRENCH EXCAVATION	2370	LIN. FT.	\$200.00	\$474,000.00	\$200.00	\$474,000.00	\$207.00	\$490,590.00	\$340.00	\$805,800.00	\$100.00	\$237,000.00
621.0034	WAIKELE CCTV, CONCRETE	81	C.Y.	\$350.00	\$28,350.00	\$575.00	\$46,575.00	\$403.00	\$32,643.00	\$1,000.00	\$81,000.00	\$250.00	\$20,250.00
621.0035	WAIKELE CCTV, 2"C PVC SCHEDULE 40	9400	LIN. FT.	\$10.00	\$94,000.00	\$8.00	\$75,200.00	\$9.00	\$84,600.00	\$17.00	\$159,800.00	\$12.00	\$112,800.00
621.0036	WAIKELE CCTV, ELECTRICAL CABLE	3260	LIN. FT.	\$20.00	\$65,200.00	\$20.00	\$65,200.00	\$19.00	\$61,940.00	\$25.00	\$81,500.00	\$40.00	\$130,400.00
621.0037	WAIKELE CCTV, 24"X36" TRAFFIC SIGNAL PULLBOX	23	EACH	\$4,000.00	\$92,000.00	\$2,300.00	\$52,900.00	\$2,144.00	\$49,312.00	\$1,500.00	\$34,500.00	\$3,000.00	\$69,000.00
621.0038	WAIKELE CCTV, ENCLOSED CIRCUIT BREAKER	1	EACH	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00	\$10,779.00	\$10,779.00	\$5,500.00	\$5,500.00	\$2,000.00	\$2,000.00
621.0039	WAIKELE CCTV, STEPDOWN TRANSFORMER 2KVA PEDESTAL	1	EACH	\$5,000.00	\$5,000.00	\$13,900.00	\$13,900.00	\$13,148.00	\$13,148.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
636.0100	E-CONSTRUCTION LICENSE	F.A.	F.A.	F.A.	\$178,000.00	F.A.	\$178,000.00	F.A.	\$178,000.00	F.A.	\$178,000.00	F.A.	\$178,000.00
645.0100	TRAFFIC CONTROL H2 SOUTH SITE	L.S.	L.S.	L.S.	\$130,000.00	L.S.	\$600,000.00	L.S.	\$471,503.00	L.S.	\$900,000.00	L.S.	\$202,500.00

PROJECT NO.: 1	FREEWAY MANAGEMENT SYSTEM, PHASE 3 UNIT 1 NH-0300(152) NET LENGTH OF PROJECT: 3.8 MILES												
	NH-0300(152) NET LENGTH OF PROJECT: 3.8 MILES												
ISLAND:												STATE	of Hawaii
	OAHU DISTRICTS: HONOLULU AND EWA			-	LECTRICAL	JACK ENDO ELECTRIC, INC		WASA ELECTRICAL SERVICES, INC.		KIEWIT INFRASTRUCTURE		DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
TYPE CODE: 2	24			CONTRAC	STING, LLC	ELEC	INC, INC	JERVIC	ES, INC.	WEST CO.		FIGHW/	
DATE ADVERTISE	ED: Internet Posting - 9/8/21												
BIDS OPENED:	October 13, 2021												
COMPLETION TIM	ME: 617 WORKING DAYS BASE BID												
ITEM NO.	BASIC BID ITEMS	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
645.0200	TRAFFIC CONTROL H1/WAIKELE CCTV SITE	L.S.	L.S.	L.S.	\$60,000.00	L.S.	\$320,000.00	L.S.	\$262,520.00	L.S.	\$350,000.00	L.S.	\$139,500.00
645.0300	TRAFFIC CONTROL AALA TO PALI SITE	L.S.	L.S.	L.S.	\$5,763.00	L.S.	\$11,500.00	L.S.	\$17,803.00	L.S.	\$111,000.00	L.S.	\$17,100.00
645.0400	TRAFFIC CONTROL KEEHI IC SITE	L.S.	L.S.	L.S.	\$30,000.00	L.S.	\$485,000.00	L.S.	\$398,704.00	L.S.	\$1,300,000.00	L.S.	\$148,500.00
645.0500	TRAFFIC CONTROL WAIAWA IC SITE	L.S.	L.S.	L.S.	\$18,000.00	L.S.	\$165,000.00	L.S.	\$271,723.00	L.S.	\$110,000.00	L.S.	\$216,000.00
010.0000	ADDITIONAL POLICE OFFICERS, ADDITIONAL TRAFFIC CONTROL DEVICES, AND ADVERTISEMENT	F.A.	F.A.	F.A.	\$105,000.00	F.A.	\$105,000.00	F.A.	\$105,000.00	F.A.	\$105,000.00	F.A.	\$105,000.00
647.0001	AALA STREET TO PALI HWY, FIBER OPTIC CABLE IN CONDUIT	2500	LIN. FT.	\$20.00	\$50,000.00	\$20.00	\$50,000.00	\$25.00	\$62,500.00	\$27.00	\$67,500.00	\$20.00	\$50,000.00
647.0002	MIDDLE STREET TO AHUA STREET, FIBER OPTIC CABLE IN CONDUIT	7250	LIN. FT.	\$22.00	\$159,500.00	\$20.00	\$145,000.00	\$27.00	\$195,750.00	\$27.00	\$195,750.00	\$20.00	\$145,000.00
647.0003	WAIAWA ROAD STUB, FIBER OPTIC CABLE IN CONDUIT	800	LIN. FT.	\$21.00	\$16,800.00	\$20.00	\$16,000.00	\$25.00	\$20,000.00	\$27.00	\$21,600.00	\$20.00	\$16,000.00
0	FARRINGTON/KAMEHAMEHA CABINET TO H2 SOUTH CCTV TO H2 VMS CABINET, FIBER OPTIC CABLE IN CONDUIT	11810	LIN. FT.	\$20.00	\$236,200.00	\$20.00	\$236,200.00	\$24.00	\$283,440.00	\$27.00	\$318,870.00	\$20.00	\$236,200.00
647.0005	WAIHONA STREET STUB, FIBER OPTIC CABLE IN CONDUIT	430	LIN. FT.	\$27.00	\$11,610.00	\$20.00	\$8,600.00	\$34.00	\$14,620.00	\$27.00	\$11,610.00	\$20.00	\$8,600.00
647.0006	WAIKELE CCTV, FIBER OPTIC CABLE IN CONDUIT	3410	LIN. FT.	\$19.00	\$64,790.00	\$20.00	\$68,200.00	\$23.00	\$78,430.00	\$27.00	\$92,070.00	\$20.00	\$68,200.00
648.0100	FIELD POSTED DRAWINGS	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$2,000.00	L.S.	\$7,107.00	L.S.	\$25,000.00	L.S.	\$5,000.00
652.0100	HDD (DUCTLINE 1 – STA. 0+00 TO STA. 4+50.00)	450	LIN. FT.	\$295.00	\$132,750.00	\$440.00	\$198,000.00	\$403.00	\$181,350.00	\$600.00	\$270,000.00	\$400.00	\$180,000.00
652.0200	HDD (DUCTLINE 1 – STA. 4+50.00 TO STA. 9+50.00)	500	LIN. FT.	\$295.00	\$147,500.00	\$440.00	\$220,000.00	\$403.00	\$201,500.00	\$600.00	\$300,000.00	\$400.00	\$200,000.00
652.0300	HDD (DUCTLINE 1 – STA. 9+50.00 TO STA. 10+73.49)	125	LIN. FT.	\$295.00	\$36,875.00	\$500.00	\$62,500.00	\$414.00	\$51,750.00	\$660.00	\$82,500.00	\$400.00	\$50,000.00
652.0400	HDD (DUCTLINE 2 – STA. 0+00 TO STA. 2+93.93)	300	LIN. FT.	\$295.00	\$88,500.00	\$500.00	\$150,000.00	\$403.00	\$120,900.00	\$600.00	\$180,000.00	\$400.00	\$120,000.00
652.0500 I	HDD (DUCTLINE 3 – STA. 0+00 TO STA. 1+97.48)	200	LIN. FT.	\$295.00	\$59,000.00	\$525.00	\$105,000.00	\$416.00	\$83,200.00	\$600.00	\$120,000.00	\$400.00	\$80,000.00

	TABULATION OF BIDS												
PROJECT:	FREEWAY MANAGEMENT SYSTEM, PHASE 3 UNIT 1												
PROJECT NO .:	NH-0300(152) NET LENGTH OF PROJECT: 3.8 MILES											STATE	OF HAWAII
ISLAND:	OAHU DISTRICTS: HONOLULU AND EWA										RASTRUCTURE	DEPARTMENT C	F TRANSPORTATION
TYPE CODE:	24			CONTRA	CTING, LLC	ELECT	RIC, INC	SERVIC	ES, INC.	VVES	ST CO.	nignw <i>r</i>	AYS DIVISION
DATE ADVERTI	SED: Internet Posting - 9/8/21												
BIDS OPENED:	October 13, 2021												
COMPLETION T	IME: 617 WORKING DAYS BASE BID												
		APPROX.		UNIT		UNIT		UNIT		UNIT		UNIT	
ITEM NO.	BASIC BID ITEMS	QUANTITY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
652.0600	HDD (DUCTLINE 4 – STATION 0+00 TO STATION 7+39.96)	750	LIN. FT.	\$295.00	\$221,250.00	\$440.00	\$330,000.00	\$400.00	\$300,000.00	\$600.00	\$450,000.00	\$400.00	\$300,000.00
681.0100	CCTV POLE, 50 - FOOT	2	EACH	\$28,000.00	\$56,000.00	\$64,500.00	\$129,000.00	\$62,513.00	\$125,026.00	\$200,000.00	\$400,000.00	\$50,000.00	\$100,000.00
681.0101	CAMERA LOWERING SYSTEM	5	EACH	\$8,000.00	\$40,000.00	\$10,000.00	\$50,000.00	\$12,495.00	\$62,475.00	\$25,000.00	\$125,000.00	\$20,000.00	\$100,000.00
681.0102	CLS TRAINING	L.S.	L.S.	L.S.	\$4,000.00	L.S.	\$5,785.00	L.S.	\$12,524.00	L.S.	\$50,000.00	L.S.	\$6,500.00
681.0103	CCTV CABINET	2	EACH	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00	\$13,949.00	\$27,898.00	\$40,000.00	\$80,000.00	\$25,000.00	\$50,000.00
681.0104	CABINET FOUNDATION	2	EACH	\$8,000.00	\$16,000.00	\$6,300.00	\$12,600.00	\$14,261.00	\$28,522.00	\$20,000.00	\$40,000.00	\$9,500.00	\$19,000.00
681.0105	TWO 2-INCH CONDUIT, SCH 40 PVC, CONCRETE ENCASED	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$4,800.00	L.S.	\$27,244.00	L.S.	\$50,000.00	L.S.	\$25,000.00
682.0100	INSTALL GFE ETHERNET SWITCH	8	EACH	\$4,000.00	\$32,000.00	\$4,300.00	\$34,400.00	\$5,144.00	\$41,152.00	\$6,500.00	\$52,000.00	\$5,500.00	\$44,000.00
683.0100	CCTV CAMERA ON CLS	4	EACH	\$8,800.00	\$35,200.00	\$8,900.00	\$35,600.00	\$10,489.00	\$41,956.00	\$25,000.00	\$100,000.00	\$11,000.00	\$44,000.00
687.0100	FIBER OPTIC PIGTAIL	228	EACH	\$8.50	\$1,938.00	\$30.00	\$6,840.00	\$9.00	\$2,052.00	\$27.00	\$6,156.00	\$150.00	\$34,200.00
687.0101	FIBER OPTIC SPLICE	702	EACH	\$107.00	\$75,114.00	\$90.00	\$63,180.00	\$155.00	\$108,810.00	\$90.00	\$63,180.00	\$175.00	\$122,850.00
687.0102	FIBER OPTIC JUMPER	110	EACH	\$10.00	\$1,100.00	\$35.00	\$3,850.00	\$12.00	\$1,320.00	\$35.00	\$3,850.00	\$125.00	\$13,750.00
687.0103	RACK MOUNTED INTERCONNECT CENTER	7	EACH	\$8,500.00	\$59,500.00	2300	\$16,100.00	\$9,923.00	\$69,461.00	\$2,200.00	\$15,400.00	\$1,500.00	\$10,500.00
687.0104	ADDITIONAL TESTING, SPLICING AND EQUIPMENT	F.A.	F.A.	F.A.	\$95,000.00	F.A.	\$95,000.00	F.A.	\$95,000.00	F.A.	\$95,000.00	F.A.	\$95,000.00
695.0100	PROJECT VEHICLES (1 VEHICLE)	38	VEH/MON	\$400.00	\$15,200.00	\$1,000.00	\$38,000.00	\$4,146.00	\$157,548.00	\$900.00	\$34,200.00	\$3,600.00	\$136,800.00
696.0000	MAINTENANCE OF FIELD OFFICE	F.A.	F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00
699.1000	MOBILIZATION (NOT TO EXCEED 6 PERCENT OF THE SUM OF ALL ITEMS EXCLUDING BID												
	OF THIS ITEM AND FORCE ACCOUNT ITEMS)	L.S.	L.S.	L.S.	\$280,000.00	L.S.	\$500,000.00	L.S.	\$150,260.00	L.S.	\$720,000.00	L.S.	\$369,500.00
а	. SUM OF ALL ITEMS	I			\$5,777,000.00		\$9,788,300.00		\$9,790,298.00		\$13,417,486.00		\$7,031,070.00
					. , ,		. ,		. ,,		. , ,		. ,
	I certify that this is a true and correct												
	tabulation of bids opened for this project グル ケームー Oct 28, 2021												
	Mult Automa Oct 28, 2021 Neal Honma Date												
	Project Manager												